SPOKEN ENGLISH CHAPTER-2-SIMPLE SENTENCE
PART-2(CATEGORY-2)

SIMPLE PRESENT CATEGORY -2

gfger

1. Someone has something &4t 3 grar Fo -4
2. To tell relation <€ Tl #

3. To contain within &t HisT & Hav For -4

Helping verb @g/d& far

1.Has - singular subject VFaa &l
2.Have - plural subject Tgade Fdf
3. Negative dSRIHD
Does not have - singular subject VHag FHdf
Do not have - plural subject Tga=e el

Has no/Have no - only used when quantity is not given 5 d&J1 7 & 3t

&



1. Someone has something f&dl & 9T & -4

Structure of sentence dFg & IdTdC

Affirmative sentence §&RIcA® dIdFT
subject + has/have + other word
Negative sentence 7dFRIcHF JIFT

1. subject + does not have/do not have + other word

2.subject + has no/have no + other word

Interrogative sentence Mddde dIFd

do/does + subject + have + other word?

Interrogative negative sentence TR«dde dAhRIcAS dTFd
do/does + subject + not + have + other word?
Interrogative sentence Mddde dIFd

Wh word + do/does + subject + have + other word?
Interrogative negative sentence T«d& dAhRIcAS dlFd

Wh word do/does + subject + not + have + other word?

Examples 3<Ig{0T



1. He has a pen 383 91 % 9 &/

2. He does not have a pen 39 91 U& 9 78T &

3. Does he have a pen? FJT 3H% YIF 0% Q7 §?

4. Does he not have a pen? FJT 39% 9IF UF 97 781 82
5. Why does he have a pen? 3893 9 & 97 ) 82

6. Why does he not have a pen? 39% 9T & Q9 I 787 82

1. You have a pen 3T9% 917 0% Q7 & /

2. You do not have a pen 3T9% 91§ % 9 78T &/

3. Do you have a pen? FIT 3T9% 91T & G &2

4. Do you not have a pen? FJT 3199 YIF % 97 781 &2
5. Why do you have a pen? 3T9% 91 & 97 ) &2

6. Why do you not have a pen? 3T9% 97 v Q7 ) 78T 82

1. I have a pen & 97 & 97 § |
2. I do not have a pen A} 9T % Q7 77T &/
3. Do I have a pen? FJT A 9T UF Qo7 872

4. Do I not have a pen? FJT Y g7 v& Q7 78T 82



5. Why do I have a pen? #¥ 9IF % 9 #3I §?

6. Why do I not have a pen? A} I v 97 FI) 78T 82

2. To tell relation &Y Id A

Structure of sentence I $I JAEC

Affirmative sentence A&®RIcA® dFd

subject + has/have + other word

Negative sentence 7dFRIcHF JIFT

1. subject + does not have/do not have + other word
2.subject + has no/have no + other word

Interrogative sentence Mddde dIFd

do/does + subject + have + other word?

Interrogative negative sentence T«dde dAhRIcAS dTFd
do/does + subject + not + have + other word?
Interrogative sentence W«dds dldFd

Wh word + do/does + subject + have + other word?
Interrogative negative sentence T«dd& dAhRIcAS dlFd

Wh word do/does + subject + not + have + other word?



Examples 3cIg{or
1. He has two brothers/There are two brothers of his 3% gl 15 & |

2. He does not have two brothers/There are not two brothers of

his 3a3 gt 578 777 & /

3. Does he have two brothers? / Are there two brothers of his? FJ7 35%

gt s 87

4. Does he not have two brothers? / Are there not two brothers of his?

FI7 3% g #mF T 87

5. Why does he have two brothers? / Why are there two brothers of
his? 3% gt %1 F91 87

6. Why does he not have two brothers? / Why are there not two

brothers of his? 33 g sr$ #g1 78T 82

1. You have two brothers/There are two brothers of his 3193 3t 31$ & /|

2. You do not have two brothers/There are not two brothers of his 3T9%

gt &g 78 & /

3. Do you have two brothers? / Are there two brothers of his? FIT 3T9%

gt s 87

4. Do You not have two brothers? / Are there not two brothers of his?

FI7 3199 gl 3F AT 87

5. Why do you have two brothers? / Why are there two brothers of his?
9 gt s FIt 87



6. Why do you not have two brothers? / Why are there not two brothers

of his? 3193 gt g 31 787 872

1. I have two brothers/There are two brothers of his &Y gt s & /|

2. I do not have two brothers/There are not two brothers of his A} &

5% 6T & /

3. Do I have two brothers? / Are there two brothers of his? FJT A} g 318

#2

4. Do I not have two brothers? / Are there not two brothers of his? FJ7

A gt s T &2

5. Why do I have two brothers? / Why are there two brothers of his? #3¥
gt s$ #4t 82

6. Why do I not have two brothers? / Why are there not two brothers of
his? &} g a1 FIF TFT 82

3. To contain within & €57 & 3T F& g

Structure of sentence d&FT $ JAEC

Affirmative sentence H&RIcHS dlFd
subject + has/have + other word

Negative sentence 7ddRIcHS JIFT



1. subject + does not have/do not have + other word
2.subject + has no/have no + other word

Interrogative sentence Mddde dIFd

do/does + subject + have + other word?

Interrogative negative sentence T«dd& dAhRIcAS dlFd
do/does + subject + not + have + other word?
Interrogative sentence WR«dds dldFd

Wh word + do/does + subject + have + other word?
Interrogative negative sentence T«dd& dhRIcAS dldFd

Wh word do/does + subject + not + have + other word?

Examples - 3cIgI0T
1. This glass has water/There is water in this glass 3& fateara # gt & /

2.This glass does not have water/There is no water in this glass &
farera & grt 787 8/

3.Does This glass have water/lIs there water in this glass? FJT 38 &g
# gt g2

4.Does This glass not have water/lIs there not water in this glass? FJ7

39 ey # grat 787 872

5.Why does This glass have water/Why Is there water in this glass? 37
farerer & gt #4182



6. Why does This glass not have water/Why Is there not water in this
glass? 39 farera # gt #9) 78F 872

Some important special case #Hgcaqul FIHA FH

Special case -1

Interrogative sentence Mdd[de dIFd
Wh - subject + has/have +other word?
Interrogative negative sentence TR«dde dhRIcAS dTFd

Wh - subject + do/does + not + have + other word?

1. Who has money? &% 9 4 872

2. Who does not have money? Fa% 9 343 ¢} 82
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